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- % [-4 (-6 -5) -1 (5 + 5) +4 (-5 + 6)]

= 2[44-10+4]

1
= EX38
= 19 BW3 JRINd

- B3ogrs ABCD o DAeesr = 53+ 19 =72 BE0 InIND
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43. A(0,1),B(2,1) 23 C(0,3) Bonnosnes); Beoats $rhes

WRBNE  DFR0RNTRY, NeDATNR QUOERNIT SRR DALEETI

F0R&HR0ND.

QT :

B Q C

P, AB ob ®gzom ,Q , BC o Sigpom @
R, AC ob RgQomnesnc®

[x1+x2 }’1+}’2]
2 2

3

P »teszoodned = (1, 1)

P & ddeszmoosnied

0+2 1+1] _

—l2 2

Q & ABerZoBRL [x1+x2 Y1ty 2]

2 2

240 1+3] _ [z 4]
T2 2

2 2

Q > dBeszodned = (1, 2)

X1+Xx +
R ® derZoo8ned, [ 12 2 ,)’12}'2]
0+0 1+3] _ [0 4]
L2 2217 1272

R o’ dWeszodned =( 0, 2)
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P (1,1), Q(1, 2) =& R(0, 2)
(Xi,Y1), (X2,Y2) &d&y  (Xs,Ya)
APQR & daeer = %{Xl (y2 - ya)+ X2 (y3 - ya)+ X3 (y1- y2)}
- %[1(2 22)+1(2-1)+0(1 - 2)]
- %[1X0+1X1+0X(-1)]
- %[0+1+0] =%x1

APQR & Dy = w0 SwAA.
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